ALL SAINTS PUBLIC SCHOOL, CHAYAM
ANNUAL EXAMINATION (2024-25)

MATHEMATICS TIME: 2 hrs
CLASS:-V MARKS: 60



Q. SECTION - A (1 mark questions)

NO. Marks
Choose the correct answer from the brackets

1 Number of edges of a cube is
[4, 6,8, 12] '

2 lweek=__  days 1
[12, 30, 7, 28]

3 If the edge of a cube is 3cm then its volumeis_ 1
[6cm3 ,9cm3 ,2cm3 ,7cm?3 ,18cm?]

4 lkm=__ m 1
[ 1000, 10, 100, 500]

5 1
If the cp of an article is €78 and the loss is €12, thenthe SPis_
[266, ¥58, 255, ¥34]

6 The sum of all the lengths of all Sides of given shape is called 1

[ Volume, perimeter, Area, None of these ]

7 If data is represented in a circle thenitiscalled 1
[pictograph, piechart, bafrgraph, linegraph]

8 OF=__ 1
[212°F 32°F, 132°F, O°F]

9 1 minute = Seconds 1

[50S,60S,100S,12S]




10 | If the selling price is she same as the cost price, then there is 1
[loss, gain, no loss no gain, none of these]
SECTION B (2 mark questions)
Answer any 10 Questions
11 | Find the area of a square whose side is 3.5cm. 2
12 | Convert 15 days into hours. 2
13 | Find the perimeter of a rectangle whose length is 27cm and breadth is 2
13cm.
14 | Write True or False 2
a) Breakfast at 8 pm
b) Dinner at 4:30 am
15 | Add 48L 35mL and 50L 20mL 2
16 | Find the side of cube whose VVolume is 100 cm3. 2
17 | Find the volume of a cuboid whose length is 6cm, breadth is 5¢cm and 2
height is 4cm.
18 | Find the CP given that SP = 2172 and profit = 42 2
19 | A pen can hold 8 mL of ink. How many litres of ink is required to fill 128
pen 9?7
20 | The Cost price of a bag is 450 and its selling price is #345. Find its 2

loss.




21

22

Convert the following into 24 hour Clock time.
a) 11:30 am

b) 9:15 pm

Convert 45°C in to Fahrenheit Scale

Section C (3 marks questions)

23

A train can travel 342 km in two hours. How much distance can the train
travel in 5 hours ?

24

25

Solve

Add

a) 36 kg 2409 and 24kg 120g
Subtract

b) 40L 200mL from 72L 500mL

Define the following
a) Temperature

b) Thermometer

26

Convert into seconds.
a) 42 minutes.

b) 28 minutes

27

The Cost of 6kg of apples is #420. Find the value of 17 kg of apples.




28 | Find the area of the following Figures.
a)
15cm
35cm
b)
30cm
30cm
29 | Convert the following temperature into Celsius scale.
a) 140° F
b) 113°F
30 | A book is 30cm long 25cm broad and 3cm thick. What is the volume of

the book.
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The given pie chart shows the favourite dress of all ladies in
colony.Answer the following question based on pie chart

Jeans & T shirt
Skirt & Top

Saree
churidar

d

b

C
d

Which is the most popular dress ?

~— S

Y4 the ladies like saree .True or Flase

Which 2 dresses are equally popular?

—_— ~—

More ladies like sarees than skirt & top .True/False
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Draw a line graph for the following data giving the details about the early
morning drink of 100 people

Coffee Tea Hot chocolate Milk Banana Shake

50 25 5 10 10
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